ZiRVAS@ZIPN
1 1324F EE PR A E S

L H

& T 313
% B EERBRENSERT
il D AEdgRlER

I
& OO

0202
83
¥ R B

Z
o)

b

ﬁ[:[?
By
b




e EIRITAR 113 BEEELTHEASHEE

SR GRS S EEA - 0202 §K 3
F1H - 38R

¥ BLEFEAR  FAAETYUERER - FNEESHREE  REEEREFEE T 757 -

=1

— . EEE (G0g X10E - FE57)

1. The plasma membrane is not involved the process of
(A) signaling transduction.

(B) endocytosis.

(C) osmosis.

(D) recycling of cytosolic proteins.

2. Which of the following function is not associated with the endomembrane system?
(A) ATP synthesis.

(B) glycosylation of proteins.

(C) Ca?* storage.

(D) protein synthesis.

3. Which of the following statements is incorrect?

(A) Carbohydrates are sugars and polymers of sugars.

(B) Carbohydrates can form large-polymers and have structural functions.

(C) Carbohydrates are polymers that can serve as energy storage for the cells.
(D) Carbohydrates are composed exclusively of carbon and hydrogen atoms.

4. Which of the following statements about lipids and fats is true?

(A) Cholesterol is a saturated fat.

| (B) Both phospholipids and fats contain fatty acids attached to a glycerol molecule.
(C) Lipids are a specialized group of fat.

(D) In contrast to lipids, fats can be composed by saturated or unsaturated fatty acids.

5. If the DNA content of a diploid cell in the G1 phase of the cell cycle is represented by x, then the
DNA content of the same cell at the metaphase of meiosis | would be

(A) 0.25x

(B) 0.5x

(C)x

(D) 2x
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6. The immediate energy source that drives ATP synthesis by ATP synthase during oxidative
phosphorylation is the

(A) flow of electrons down the electron transport chain.

(B) oxidation: of glucose.

(C) H* concentration gradient across the inner mitochondrial membrane.

(D) transfer of phosphate to ADP.

7. How many homologous chromosome pairs can be seen in the karyotype of a normal autosomal
cell of a human male?

(A) 22

1 (B)23

(C)44

(D) 46

8. In an animal cell, which protein plays an important role in the formation of a cleavage furrow
during cytokinesis?

(A) myosin.

(B) tubulin.

(C) cohesion.

(D) motor protein.

9. Which of the following statements is incorrect?

(A) Brown fat generates heat in hibernating animals.

(B) Brown fat generates heat from stored fat with ATP production.
| (C) Brown fat generates heat in humans.

(D) Brown fat is made up of cells packed with mitochondria.

10. Most CO2 from catabolism is released during
| (A) glycolysis.

| (B) the citric acid cycle.

(C) lactate fermentation.

(D) electron transport.

| = ERE (5043 557  HE 10 0)

| sET—HE]




) BRI RE 113 EEEETHEAEHEE

o+

% P ERIREEEMATCRT

15
T

g

. W

N

EHRE - £0RE SEZHCEEL 0202 B : 3
53K HBH

Please bri'e’;‘ly define the following terms.

1. Cell therapy.

2. Gene editing.

3. Cytokine releasing syndrome.
4. Metabolic syndrome.

5. Cancer stem cells.




